Verbs and what they need
z))im] Je e P s B Bl o0

Subordinate clauses M J& 1]

Medial Clauses (clause chaining) H[a] 5] (/NA)EE)
Serial Verbs (SVC) #3454 o

V and light Verb sequences z/j18] 5 ¥ ) 1A 5 1]

Example of copular verbs and arguments 2 3/j i &
Hie ol
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Simple Clause Sentences fa] H.1]

Amdo Tibetan-Simple clauses with stative verbs
R - A B B 1A 1 fR] B )
NN

1 @ﬁﬁmﬁq‘
‘The child has gotten big.’
BTFRT o

5y [3  -u5d)
child [be.big -PRF.DE]
% [R -SEA. FEHA]



Simple Clause Sentences fa] . 1]

« Amdo Tibetan- simple clauses with active verbs %%

MR- A BN A Bl A Y ] HL A
2. JAYTEA

57%7,

‘The bird flew.’
g [agx -ga]
bird [fly -PFV.DE]

5 [k ST, EH



e Simple clauses in Lhasa Tibetan i 5% i 15 1) i
J==) /IITJ 5 aq.a.ﬁ.sqwﬂ.ﬁ.ﬁﬁ.q.iﬂ
‘XA HIREF., * ‘This book is very good.’
3= 2] ([5'6: ] [ﬁﬁniﬁ])

book DET very good CcoP

~- 6. :%ﬁﬁa@q HES3¢, 'm happy.’
=] [z] (g2 [agal)
1S.DAT 1S happy CoP

7. SRZRER The bird flew.” 37 .

5] [=a=  -&=]

bird  fly _PFV.DE
'%% o %‘TZ’%EH



Copulas as auxiliary verbs
AL T v
8. te %‘uﬂﬁ: HjjrezdjJ ] \@a’i
DEM who -GEN COP.EQ.NE Z:\ R‘

‘Whose is this?’ ‘X2 HER]? "’

9. ngaa skyidpo  ‘dug :q%zr\ﬁqﬁlq
1S.DAT  happy  COP.EXST.DE

‘I'm happy.” AR 5%

10. nga -la  dngul med

1S -DAT money NEG.COP.EXST.EGO :N'ﬁ:"d'a:\‘
ok i



Auxiliary Verbs

W1 5))A]
* Are copulas auxiliary verbs in Tibetan? JE1E 1] £ ]
& W)y 1] Wk 2
Amdo %% if
ENG N T RN
1.5A'D Nﬁ Q"
‘The child has gotten big.’
BTRT o

byi.lu che -yod.gi]

child be.big -PRF.DE]

&% k _jliﬁﬁio %ffﬂ]




Auxiliary Verbs
Wiz in]

* Are copulas auxiliary verbs in Tibetan?
o JEIEH R 1E A2 BBl iR g 2
Lhasa Tibetan i/ 5= 1

N~
i .ﬂaqmr\

dlia >a  “gl.yuu

meat eat -IPF.EGO
R 7 -FESEE. HIR
‘AR,




Clause Chaining— review
/INEJEE- 2
 Smedial...S medial...S medial...S final
e FIE P4 EIE AL B RAAL. EIE &R
* Give sequential or simultaneous action

o FHAR BRI A AR BIAE




Clause Chaining: Meithei example
/INA)EE: = e RIE R

uhaisin adu heklaba matunda
fruit that plucking after

KR A K 2R

mahakna vyallibsa khau adu thallabagi matunda
he hanging bag that full after

fin H B B A

kairak adudagi kumtharaktuna
ladder that climbing down

By A TRk

laibak makhada a: Iairiba  basketsin
earth  under hesitation having baskets
o it S C I

aduda  hapcinlommi.

that putting/keeping I~ ik

‘After plucking those fruit, he, after filling the hanging bag, climbing down from that ladder, put them on in the
baskets that were on the ground’

ﬁﬁlﬁm%ﬁﬁ?ﬂ% SITE R, BEE T EIETROR, SEACREI 2 BT

Il/—‘



Clause chaining-Tibetan example
/N B - RV R4 5

12. Efiqg’;@ﬁ'é’?‘ﬁ&'a'&'ﬁm'iir:""

[slob.sbyong byed-tshar]-nas
study “~>] do-finish fi{58 -?7?
[za.ma Z0S -song]
food 1t eat.5¢%& -‘Ti%

‘Mz 2582 e 1.
‘(He ate] after [finishing studying].




Subordination— review
MEJRR-E

* John saw Jill Zi8F W71 %K.
 Jill jumped over the barrier. /R Bkt T AAMIFE .

e Two ways of subordinating: iz 3= )81 M\ ] i) 5
772
— John [Jill over the barrier jumped]-nominalizer
SaW. 2[5 /K BT A= k-2 B W,
— John saw that Jill jumped over the barrier.
— 28 DL Rk 1 AR



Features of subordinate clauses

NG ES

Complement clauses are required by the argument
structure of the verb

fheiE A b/ NE]? ) B IR H1FE R T

The order with respect to the main verb is variable

—_—a

EZi]? ) IR R R A

4$<1|E‘lﬂ (3

TE%

i}

E /T

There is a subordinator (either a nominalizer or,
quotative)

AMEARDE (B2 Peinic, BeE5lEmRIe)



Some examples 1+
%%, 12, ﬁé‘:aﬂﬁqé’:éﬁ@aa@

dbyingyig sioonspyong oyeu -pa -ge

English JoiE study %] do 1E —~NOM 44 bR —DEF
FEFER I

zhegi sra  -gi
very i good I  -IPF.DE dE58/%. SEHI
‘It’'s very good to learn English.

FIAEIR YT o



Relative Clause example>< & M A4
13. @N'*ﬁl\l"qa'ﬂ'ﬁ'ﬁaiﬂ

khyo -s  zos -ba -i sha -de

2S -ERG eat.PFV -NOM -GEN  meat -DEF

nga -'i red

1S -GEN  NE.COP.EQ

‘The meat you ate was mine.

TRAZ B 72 FEHY o



Example with quotative from Meitei

=] 7 X

= Je /R 1E 5] 1E 1]+
2yna upudu kari  yawbage
9y-nd u-pu -tu kari  yaw-pa-ke
I-CNTRwood -carry-DDET  what include-NOM-OPT
| that box what it wants to include

(haybado) khanni

hay -padu khan —i
say -DCOMP know -NHYP
that know

‘| know what that box should have in it.

FRTEAA G T BizBA T 4



Serial Verb Defining characteristics
B 257 ) H 2 R AIE

A single clause contains two or more verbs

— fi] BLe) BLAL B A BOR AS BL R 3R]

Together they express a single event

HFIFRIE — > B A

The two verbs share an argument.

AR L = — MRt

The SVC may express direction, goal, completive aspect, purpose,
manner, causation

ER R AT LIRS TR HbR 58458, By 52, R

No pause between verbs

2y i) [F] {5 A {51



Amdo example %% i 14+
14 S’%"«@W@RE"*’{

bya -de ‘ohur -bud -thal
Bird -DEF fly -went -PFV.DE
‘The bird flew away (I watched it).’

MRAEKET. CGEID




Verb-Light Verb z/j1i]-4% 51 4]

Must co-occur with non-auxiliary
W AN AR B 5]y 1] LB
Restricted word order: 2"9 position

B Sz PR 28 A

Small closed class

BT HI NS




Light Verb- Verb sequences
¥ 3))iA]--5)1 1A 7 4]

Also called vector verb or explicator verb
1Y 5% = 3 1A B AN R B 1A]

Is an areal feature

o R—IXBAFE

* Hindi example:

nikal paRA

Leave & JT fall ## K

paD dala
read &  put JiX



Light Verb- Verb sequences
¥ 3))iA]-5)1 1] 7 4]

Also called vector verb or explicator verb

Is an areal featuretd P 55 &= BRI B AN A DR, &2
— i X BARRAIE
E= éﬁ ) ilﬂ
(fit) PARTZE S . (He) studied.

* Tibetan:

5= 37235

=2>]  (studying) it (did)



Main verb is a copular verb
FEEE CERhAE? ) &R

nga slobma yin
1S student EGO.EQ.
‘I am a student.” Ik 24,

mi-de-tsho bodpa yinbared
person-DET-PL Tibetan.person POT.EQ

‘Those people might be Tibetan.

AR L8 N AT BE A2 SRR o

‘di nga’i ma-red

DEM  1S.GEN NEG-NE.EQ

KA



Main verb is an existential copula
F 2 (EB0E? ) AR E £ 31

Lhasa $i [ i

da nga nang-la yod

now 1S home-DAT EXIST.COP.EGO
‘'m home right now.” FXILEEFR B,

potrang poTala |hasa-la yobared
palace Potala Lhasa-DAT EXIST.COP.FACT

‘The Potala Palace is in Lhasa (I know this b‘eciuse‘l I‘earned it in school.).
AR ARG, GRAERX DR R, )

’

nga-la dngul med
1S-DAT money NEG.EXIST.COP.EGO
‘ don’t have money.” FRIXA .



Main verb is copula expressing

position or possession
FELF R (EDE? ) RN 1 551

nga-‘a dngul med
1S-DAT money NEG.EXIST.COP.EGO
‘I don’t have money.” FIXH K

nga-‘a khabar gnyid yod
1S-DAT phone 2 EXIST.COP.EGO
‘| have two phones.! FAH MW TFHlo

tshongkhang -na chang med -Ki
store -LOC  alcohol NEG.EXIST.COP -DE
“The store doesn’t have alcohol/there’s no alcohol at the store!

il Je B T



Main verb is a copular

expressing an inherent quality
BRI (Eahi? ) RRIRE A M R B
Lhasa 7 5% 11
%‘ﬂ@'&ﬁ'ﬁ'@@ﬂ
3S body very long EXIST.COP.DE
‘He is very tall.” fhilE5 &

potrang poTala hajang chenpo  yobared
Palace Potala very big EXIST.FACT
‘The Potala Palace is very big.” AfiiA$ B4k,

pe yagpo ‘dug
very good  EXIST.COP.DE
‘(It/he) is very good. ‘& /MA4F LT



The main verbal element is a particle (like
English be/is)
FEIEWE (FEFhia? ) R /b mmin GRS TE

Hbe/is)

nga slobma vyin
1S student EGO.EQ.

‘I am a student! R B~

uy



Summary &4

Clauses have two main parts

/INE] AR 014 i

Verb 15 4]
the required elements of a verb 1§ ia] £ 3K

(T 227 ) BIIY



Required elements %k (FHE2 ) Kl

* A verb may require only one element (called
argument)—/ME A 1] LR T —A sy (BRONIBIT)
1 FRRAR

+ verb 170+ 18 1A
‘phur -song
fly -PFV.DE

‘The bird flew! & ¥ 1 .



Required element Zixk (FFE? ) Bk

* Some verbs require one element be it simple
or complex: A L1517 7F E — MR IV ELE
2= BRI

She knows me. fil R FR

She knows I EIE R 2
i,



Required element #isk (FE? ) KISy

The verb may require one complex element

U ) 5 AT LR SR — AN Y i)

2y-na u-pu -tu kori yaw-pa-ke

I-CNTR  wood -carry-DDET what include-NOM-OPT

I that box what it wants to include
(haybado) khanni

hay -padu khan —i

say -DCOMP know -NHYP

that know

| know what that box should have in it

SRS IBERCARL VAL SR | i/



Grammar fun 1EVERIR 2 ]

WRITE A SENTENCE 5 —/Ma] 1
PASS TO NEIGHBOR (ptn) {&454% &
CIRCLE THE VERB (ptn) F&l H 3117]
UNDERLINE THE REQUIRED ELEMENT (ptn)
£ (Bhia]) BRI B RIZL

IS THE REQUIRED ELEMENT SIMPLE OR

COMPLEX? (ptn) (Bhia]) ZESR )AL 77 A2 18]
BA)IE e B R 7




Subordinate sequential M J&H]+F %]

ol

amun  jaki har-ju.

3SG.ERG uncooked.rice bring-3SG.PST

“... he brought (home) rice. 7% (m

jaki ha-ene niduri=ta hat-cu.
uncooked.rice bring-PART mother=DAT say-3SG.PST
Bringing the rice, he spoke to his mother.’

WK, IR RER BRI




Embedded sentence W fik =]
Subject, [Subject2 —Verb] Verb

» L

‘11::1 [+

= 152-15 19 115 14]

dokhsenun [kharayo lipul-elnp.o khony-an

all.ERG

rabbit

return-NR2  see-PART

"All of them seeing the rabbit return ...~

A TEE W AR T3 1 [BE...




Embedded sentence W fik =]
Subject1 [SubJect1 —Verb] Verb

Fi1E1 [F1E 118 1R 1 1A

mauri=n ja  chu-ilnp.o  han-ane
mother=ERG rice cook-1.FUT say-PART
“T'he mother said: I will cook rice™ ...~

Bl “RERKRT .V



Subject is the same for the

subordinate and main clause M

A0 A) ) JEE A ]

amun  ja  na-en  ye-eu ka
3SG.ERG rice eat-PART come-3.FUT ASS
‘He will eat his meal and come back.

i () ik, RIERER,

Sl



Different subject in main and
subordinate

FAJFM g1 FE A

1

ma khat=ku  dig-an con-an  kae bo=ku
mother bed=LOC sleep-PART stay-PART son floor=LocC
con-a

stay-3SG.PST

“The mother was sleeping on the bed; the son sat on the floor.”

BESRTEPR EMESE; L7 AR7EM B




Basic Embedding Structure & AH] A
ik 285 1)




e

Embedded Structures N1

NPx NPp V

mauri=n han-ane

mother=ERG Say-PART
ja chu-i

rice cook-1.FuT



Clause Chaining (Newari) /)Na)%E
(A PFLEAE)

Jjanchi phen-nasin am swalhar-a

sash  untie-when that fall-3SG.PST

*‘When he untied his sash, that fell.’ AT A I, TS s T R
thi-pa mart  bir-sa thi-gur kha har,

one-CL bread give-if one-cL talk say-l.FUuT ﬁﬂ;ﬁ¢$ékiﬁ S,
‘If you give me one (piece of) bread, I will tell you on?atﬂﬂlﬁ'c}}w\#ﬁc$rﬁ i
ame hatar ju-e-ldagin bimesor thakur=ta

3SG.GEN haste be-NR2-because Bimsen lord=DAT

catan=na  pwal-ju

Spoon=INST strike-3SG.PST

‘Because of his haste, he struck Lord Bimsen with a spoon.’

KON/ &S ABHAIFRET 1 Bimsen .




Participial construction 43~ 1a] 45 4

amun  ja  na-en ye-eu ka
3SG.ERG rice eat-PART come-3.FUT ASS
‘He will eat his meal and come back.’

fLE () Wi, RJEER. / flsra ot [ak.




Series of participial clauses s #mi%f

am kehé=uri sut-pant  phi-ene tap phi-en
that younger.sister=IND suit-pant wear-PART hat wear-PART
sara  ga-en am kehe tun on-a

horse climb-PART that younger.sister FOC go-3SG.PST

“That younger sister put on a pants suit, put on a hat, climbed on a
horse, and that younger sister went.’

ok Bk, EMET, 3 EESE T



Clause chains /M) 8%




Chain within embedding pying:# s )
B

[[amun hd-en ta-e|lpgr  ni-sar dyabdlnp.o amu
3SG.ERG bring-PART keep-NR2 two-hundred money that
ché  dani=n kar-ai

house owner=gErG take-3SG.PR
“The householder took the two-hundred rupees that he had brought and

kept with him.’

TNE T A B ORAF TGS 11120045 B .



